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QUESHON-BOOKLET A QUESTION BOOKLET
CODE NUMBER 7423 53
DURATION : 105 Minutes MAXIMUM MARKS : 100
ROLL NO OMR ANSWER
- SHEET NO.
NAME OF THE CANDIDATE : SIGNATURE OF THE CANDIDATE :

INSTRUCTIONS TO THE CANDIDATES
NB : NO CANDIDATE WILL LEAVE THE EXAMINATION HALL BEFORE THE END OF EXAMINATION.

Check the Roll no. marked on your Seat. If any candidate is found sitting on the “Roll number” of
any other candidate, it may lead to cancellation of his/her examination.

1.

2.
3.

10.

11.
12.
13.
14,
- 15.

16.

All the questions in the test are of multiple choice questions. Each question carries one mark and has four
alternatives.

Write your Roll Number in the designated space on the OMR answer sheet AND the question paper.
CAREFULLY READ ALL THE INSTRUCTIONS ON SIDE-1 OF YOUR OMR ANSWER SHEET. Note that the
question booklet code, centre number, question booklet number and roll number at the bottom of side-1 of
OMR answer sheet is only an example. Do not copy these numbers on side-2 of the answer sheet.

DO NOT DAMAGE OR FOLD THE OMR ANSWER SHEET.

On Side-2 of Answer Sheet, fill up your 1) QUESTION BOOKLET CODE, 2) CENTRE NUMBER,
3) QUESTION BOOKLET NUMBER AND 4) ROLL NUMBER. Write these as numbers in the square boxes
AND also darken the appropriate circles. Candidate will be responsible for errors in evaluation due to not
filling/wrongly filling these boxes and circles on the Answer Sheet.

Check that the Question Booklet Code (SET-A, SET-B, SET-C, SET-D) which you have written on your OMR
answer sheet is the same as the one on your question paper.

Your 6-digit Question Booklet NUMBER is located at the top right hand corner of this instruction sheet.

If any question is missing, bring the fact to the notice of the invigilator immediately and get your
question paper changed.

Each question has only one correct answer. Indicate your most appropriate answer by completely darkening

_ the circle enclosing the appropriate option on side-2 of the answer sheet.

EXAMPLE OF CORRECT DARKENING EXAMPLE OF INCORRECT DARKENING
Q No. Responses Q No. Responses
50 @®0e 50 @®0©@®

In case more than one circle is darkened for a particular question, it will be marked as incorrect even if

the second circle was darkened only partially.
Use only black or blue ball point pen.

Use of Calculators/Log Tables/ Mobile Phone/any electronic device is not permitted.

There is negative marking of (0.25 or %) for incorrect responses/wrongly marked response.
Do not deface the OMR answer sheet.

Do not keep any paper or material with yourself, from which you may be able to derive help directly or
indirectly in the examination. If any such material is recovered from you, action will be taken against you for
resorting to unfair means.

Do not snﬁuggle out questions by writing them on a piece of paper or any part of your body during
examination. Doing so will attract disciplinary action and may lead to cancellation of your examination.

DO NOT OPEN THE QUESTION BOOKLET UNTIL YOU ARE TOLD TO DO SO
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die : &g W Srficar wdien guTE 89 4 ugd udlan s T B

T e W sifda A Fav ot oiw e 7)1l F1g o Sufigar R ory Srflqar ¥ A Fw W AsT

TR 1T § o S9! Udiad I $1 5 TP gl

1. e d @i uy sgiise i § 1 TAS U U 3 &1 ¢ iR Uy & IR fJeea Ry mu §)

2.  OMRIR UFE IR vy o1 H Feffa =m o= € aroen A AR ford|

3. Ul OMR W UF® & Y§-1 W U T ;i Fei &t ermgdes ug @l & & 5 OMR SR W& & U5-1 R
A 13T T Uy gl SIS, s S, WY IRIwT T 3R A HeR Had Uh ISTEI0 ¢l 3T OMR IR UFH
P U8-2 W BIUT 7 B

4, OMR IR TP O B ATAS T8

5.  OMR I TG & Y¥-2 TR 30T (1) UH-TRIBT DIS (2) v TGAT (3) UH-GRaPdT G=AT (4) I AR ord 1 35
WWﬁ&mﬁﬁiﬁaﬁvﬁﬁﬁqﬁﬁﬂiﬁ/ﬁﬁﬂwmﬁ BT B | IR TAD § 1 il Td gl @1 A
YRA/ATAd WA & SR Jediod U g3 Ffeal & form snadf wy rder grm

6. WW@I%H%WW(@ZA@EB@EC@ED)@W&WOMR IR TP W forar g It U
Ty o R HI ferar g

7. 3MUD! UY URRIHT B 6-3i! 31 Tem 59 S gt F g B W & S B

8. Ul Uy gRa®T ¥ ig vy 7 o o 81t SRt A R FAterd 1 < ofiR o wy gkt sgd

9. Wuﬂﬁ%awﬂé‘rwéiw%%%zmmwmﬁﬁ@mmmﬁm

UG IR 1 B
faower w=A »1 w8 IEvr ! fa@eq YA BT Ted IeTevu
U Se SR | wawem ikl
. | @006 | 50 @©@®O@®
10. afe fosdft Uy & U § 3ifers IRt B wR1/Tan o Sar € @ 59 e W ST 918 g 99 Y Siflie U §
RRRCASIRE IR
11.  $Had &I q7 A1 916 WIse U9 &7 81 SKHI DR

12.  Sepae/aAl caa/ Marsd HiH/ e o seacie IuHur & IUaT St 3l ol ¢!

13.  TTod IWIATad R fare e IRl % e (0.25 a1 1) TERIAS 3@ Bl

14. OMR IR UFF ®I BIS-HIS Tl

15. Ten o o U s ot BT a1 Il 7 T R ST yasl a1 s ©9 ¥ Aeg e 9d | afd e
Ty T Pis it Il v St B < o favg SigfRId WieF U % R A HRATS Bt gt

16. Tdem F ERM Ul B PR $ chel W fRgdr a1 9 WR F N RN m T o W eE R
IRATHS HRATS BT ST 3R TP} TRYer ¥, 1} &t 1 Theht 3
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1.  Where was the Advantage Healthcare India (AHCI) 2023 conference held ?
(@ Mumbai - (b) Kochi (¢) Hyderabad (d) New Delhi
TEaiesl e PR ST (AHCY) 2023 THE gl Sifoa foasar T o 2
(@ HaS (b) PR ( BMEG (d) % faeet
e JBTmd S (AHCT) 2023 TaEdH fo8l wrdfa3 ot ardt H 2
@ YHad ) <t € JedEE d) &<l

2. If ¥ means -, '+ means '/, '~ means ‘X', /' means '+, then 15-2 / 900+90 x 100 is :

(@ 190 (b) 180 (© 90 (d) None of these

afg w wradf —, v w7, — wraRf o,y Bt 4 gl 15-2/900+90 x 100 BT HA
TR ?

@ 190 b) 180 © 90 d) TTEIBE TS

HAd X THIBIJ ', '+ THIBY /', '~ TTHIBI I ¥, '/ THIBY I '+, 3T 15-2/900+90 x 100 &
CiNEkiGK,

@ 190 (b) 180 © 90 d) fegstfed ad adt

3.  The difference of two numbers is 1365. On dividing the larger number by the smaller, we get 6 as
guotient and the 15 as remainder. What is the smaller number ?

a1 TEIell BT 3R 1365 €1 I UBA B! Bict GEAT § fAuiiog o= I g8 UIhd & 39 § 6 iR
YNGA & U H 15 U Bidl o | o BT T R E ?

T FARpATE! T 3T 1365 J1 T AT § 8 & 91 996 '3, WG 6 Id w3 15 el e 31 2
Hp il Q ?

(a) 240 (b)y 270 () 295 (d) 360

4. Highest Civilian award of India is

(8) Ashok Chakra (b) Padma Vibhushan

(¢) Bharat Ratna e ) Padrh;.) Bhushan
YR $T Yared ARG REGBR g1

(@) SIND TqD (b) ORT faageror

(© HRA (d) T YW

393 T AI=ET A YaraTd 3

OB EEC (b) UTHfegne

© II3I3 (d) USHIHS
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In June 2023, which of the following state governments launched Asia’s largest, ambitious and

historic cluster development scheme ?

(@) Rajasthan (b) Bihar () Gujarat (d) Maharashtra
9 2023 ¥, Fafafied & 9 5w T WeR 7 R o ew 91, qeamie R e sex
A& T Y& D1 ?

(a) ORI (b) f¥BR (© ORI (d) HERIY

6 2023 189, I Tt f&S faadt I Aaand & 2w <t 7 3 251, wifswmt w2 fefsame 98w
feam™ TraT §g otst 2

(a) JHAES (b) foarg GEECIGELE: (d) HITHI
Lala Lajpat Rai died protesting against which British Act/Commission ?

(@) Rowlatt Act (b) Simon Commission

(c) Bengal Regulation Act (d) Hunter Commission

fora fefewr srfafam /smdi o1 fakiy Sd g arel aoiaeaRE &1 5 g3 ot 2

(a) Xfdie o (b) WRHH BATE

(© SmE e sfafFEn (d) TR BHRA

fom ffen wae/afHas & fedu g9v I8 B Taus I S i3 I8t i 2

(a) dBTNTE (b) FEHS G

(© HIrS IYSHE W (d) dedafims

The number of zeros at the end of the product will be :

U & 3fd & T &Y B g :

m%»‘@ﬁafﬂ%ﬁ*ﬁﬁf&w

12 x 18 x 15 x40 x 25 x 16 x 55 x 105

@ 10 by 9 (¢ 8 (d 6

Lyrics of Tk Kuri Jihda Naam Mohabatt' were written by

(@) Sahir Ludhianvi (b) Amrita Pritam
(c)  Shiv Kumar Batalvi (d) Jawed Akhtar
fa swpslfgamagsa Faw_ gmfamud
(a) QR ermrelt (b) S HaH

© e IR emd (d) 9T SRR
o g3 e s HJEs' 2 8% oid 58 IR AS |
(a) Tfad Bl (OERIFERIER

(© faRgH9 g (d) TR Y3
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9.  Where did India last win Olympic Hockey Gold Medal ?

(@) Helsinki (b) Moscow (c) Tokyo (dy Melbourne
YRA 7 RN SR e gl vl uge el offen o1 ?

(a) Tl (b) D! () <rR (d) T
93 S winyd! =g §fua Tt e He e 48 fifznr w2

(@ JBH (b) WA (© &G (d) PSAIs

10. Sheela takes four times of the time to row a given distance against the stream as to row the same
distance along the stream. Ratio of the speed of the boat(in still water) and streamis :

e &1 T 719 gRT U FAfda g8 99 9 § URT & Yarg &1 ger H 4RI % [Juid vare # IR T
e THT T B 1 A71a St i (RR g #) SR YR $1 7fd 1 SUTa o1 g 2

T § fox gt § U © fedu fanst 9o wEt 99 I A Saer J BR g § Tt © fom 5
mmémmlﬁmﬁ@aﬁﬂmﬁawﬁf@)m@wﬁmi@mﬁé?

(@) 41 by 1:4 (0 3:5 (d) 5:3

11. Four defensive football players are chasing the opposing wide receiver, who has the ball. Calvin is
directly behind the ball carrier. Jenkins and Burton are side by side behind Calvin. Zeller is behind
Jenkins and Burton. Calvin tries for the tackle but misses and falls. Burton trips. Which defensive
player tackles the receiver ?

(a) Burton (b) Zeller (¢)  Jenkins (d) Calvin

IR IAF Beard [ars! R ags RiiaR &1 dier #= ) € Sod g e g1 Ficga I A
IeP F NS |Wﬁ?aﬁ&mwwaﬂﬁ%%lwmmaﬁ$%%|%
fTes B BIRE o Bl § Wg I ol & 3R AR orar §1 967 oft Bk oren 81 B9 91 e
fearet iR ¥ Ruearg 2

(@ A () TR © AP d) Ffe

T1d ImIHE ST 3Tl fedtt et foried = g 99 99 I8, fA 98 die J) I&fes il g%
g = e 1 AafdA ¥ Hoos a8fes © R U561 1%d Aafdd »3 g3cs © g 31 Iufes
sfifae <t I g9 J Uz Y3 "iwr I »3 591 7w 3| 99¢s Fae 3 | fagzr Shpsve fust
foried o8 affeerd ?

@) ¥IH (b) wBI (€ HoldA d) dIBfes

12. The ratio of width of our National flag to its length is
TAR BT 0] P TaTS IR ASTS BT SFIAC B
S gHedt ¥3 < Surel »i3 gl @ wigu3 3 R

@ 3:5 ) 2:3 © 2:4 d 3:4

_ P.T.O.
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13. A man drives to his office at 60 km/hr and returns home along the same route at 30 km/hr, then
his average speed is .

(@ 40 km/hr (b) 45 km/hr

(o 50km/hr - (d) None of these

T 3eHt 60 fordl Uity €2 1 ifa & srom wrafery Siran € 8RR SW IR A 30 P v R S i A=
m%,mﬁnﬂaﬁﬁ%

(@) 40 foei ufy et (b) 45 e ufy ger

(© 50 e ufa ger (d) TIPS

feq mmert 60 faihiied Yyt uler & ge3r a2 »u wg3d wieT I w3 €7 a3 30 fadies Yt wler
¥ 9639 5% Wd TR W8T I, 3T A winz 9 I

(@) 40 fadvics yEhuk (b) 45 fadhiiea ygt uler
€ 50 fahiteg yZtufer (d) fegaifedaet <t ot

14. In a certain code, ‘GAME' is written as ‘'HZND'. How is ‘RAVI’ coded in this code ?
T YT B U &, ‘GAME' B ‘HZND' & ¥U 7 {1 Sfrell 81 59 ¢ UIsT § RAVI &) $9 Teag

fobar ST
fEe ym I3 1249, ‘GAME' § 'HZND' st i 31 fom 93 89 RAVI § fad I3 iz famn 3 2
(@ VIAR (b) SBWI © SZWI (d) SZWH

15. A train of length 350 m crosses a bridge of length 250 m in 20 seconds. What is the speed of the
train (in km/h) ?

350 HIcR Tisll Tab ¢ 250 Hiex A e Pl 20 Yohs H UR B! ?ﬁ'q'ﬁﬁﬁr (foet/dier o) F g ?

350 Hicg Berdt @@t IBiEt 250 Hiea © Saredt @S ys § 20 Al &9 urg qo<t 1 3BT & 9=
fdatd fa.it al i)

(@ 95 by 72 () 108 (d) 88

16. Which of the following is not a leap year ?
fafefad & @ ®F ar el af 7678 2
fegat 198 faoa S AS & J 2
* (@ 800 (b)y 1200 (¢ 1400 (d) 2000

CH-07/A 6



https://www.adda247.com/?srsltid=AfmBOorxWlJHJat0hxykMSj0dTevsfMXFCCKkF-M1iJl0fZs38MiR7HD
https://play.google.com/store/apps/details?_gl=1%2Amx0b1g%2A_gcl_au%2AMTY5Nzk3MzE3LjE3NDQwMzIyMTI.&gl=US&hl=en_IN&id=com.adda247.app&pli=1

Addal247

17. In which year did India win Cricket World Cup at Indian Soil ?
YR 7 g af # YR el R fobape fay & St o
393 & A s 97931 Uat 3 fae fer= s ffn e
(@ 1983 (b) 2003 () 2011 (d) 2015

18. 5 years ago, the age of a man was 7 times the age of his son. The age of the man will be 3 times
the age of his son in five years from now. How old is the man now ?

(@) 30years (b) 40years (c) 50years (d) 60 years

5 oY Ugd, T i BT 3 I9F T F1 3G & 7 1 2R 3@ J ufa auif aTg Afad &1 o1 39 T
B 3T B 3 T 8 ST | 34T I SMGH! Bt g fbat § 2

@ 30a§ (b) 40T% (© 50a% d) 60TY

5 7S Ufgst, ffg »redt €t €19 €% U3 €t g © 7 3@ #h g 3 Ua At & vt < €19
SFR U39 <t §1g ¥ 3 I I ARt I et T ©ra fIat 9 2

(@) BQW (by 40HE (0 50HS (dy 60HS

19. In the following question, find out the alternative'which will replace the question mark.
Flow : River ::Stagnant : ?
(@) Pond {c) Rain (¢) Stream (d) Canal
2 AT T Uy § A I fdehed &1 U @l ot Uy FRIg & M TR ST
UdIg : Gl : - 581a : ?

(a) TS (b) auf (€ R (d) T
Jat fe3 yms &9, 80 feamy 33 7 yis fiig €1 &t s

TIM B YIS ?

(@) BUF (b) =9 © Uud (d) &fad

20. Which one of the following is not a prime number ?
fFrofafed & 4 o1 9 v srvrea Jem e € 2
I& Tafimit f3 faag Yy Hfer &t J 2
(@ 31 (b) 61 (0 71 (d) 91
CH-07/A 7 P.T.O.
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21.

22.

23.

During the Mahabharata War, Shakuni was killed by
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(a) Bheem (b) Arjun (¢) Nakul (d) Sahadev
HETHRT g & GRM -t GRT HRT TR 47|

(@ (o) 3ff (© TP @ ¥eeT
HISI3 WU BT HIAT T Hifanrt faput Ht

(8 M (b) IS © 7IS (d) TR
Select the ohe which is different from the other three.

(@) Bokaro (b) Jamshedpur (¢) Bhillai (d) Agra

3 ol 9 e Uap ey 7 997 X

(8) SIHRI (b) THRIER (© e (d) ORI
it 2 3 wrelt it it e 31 |

(a) ¥ad (b) THEEYS (© fomrd (d) W
Statement : The government has increased taxes on cigarettes to reduce smoking rates.
Assumptions: L Increasing taxes is an effective way to reduce smoking rates.

I. ~ People will stop smoking altogether due to increased: taxes.

(@)  Only assumption Iis implicit (b)  Only assumption Il is implicit

(c) EitherlorIlisimplicit (d) Neither I norII is implicit
T | R Y A R B B 3 R R W § g R
AREG: 1 YHOH B a) B B B3 P [ HR A g U T i1 8 |
I &Y g3 8 QN TR RE q YHU HRAT 86 DR o
(@) Pad Agarl faf-ied g (b) Had AIA I SfafRd B
(© WA ARG AFRagl  (d) T A=adI A 8 Agdn 1 Siafied g
fos:  Hdad S fHTgeSH Tt Tat § weTQT wEt fagige 3 dan T 3T I
TdaR: I JqA U fHageaH €t vdt § werge © g ysremst 3dter I

I OJIATUS &S B HgesH fHsas 9 9d 23|

(@) fAde uga1ferfasd () fAge U9l fErfe3d

(0 w3 ianfeaesd d) &I im3adnfeafesd

CH-07/A 8
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24. On which date is International Everest Day 2023 celebrated ?

(@) May 26 (b) May 28 () May?27 (d) May?29
SiRffT T feaw 2023 o ARG @1 A= T ?

(@) 267 by 287W% © 277 d) 2978
wiZgaHed Wieane feen 2023 fam St & Harfen famr 2

@) 26H¢l (b) 28MHE (c) 27We (d) 29 Mt

25. A Tiebreaker is an additional contest carried out to establish a winner among tied contestants.
Choose one situation from the options below that best represents a Tiebreaker.

(@) At halftime, the score is tied at 2-2in a football match.

(b) Serena and Maria have each secured 1 set in the game.

() The umpire tosses a coin to decide which team will have to bat ﬁrst.
(d) RCB and KKR each finished at 140 all out.

TR T aifaikad TR § o wrafa # et ¥ et # 9 v fas g & e
w@ﬁam%l 1 Ry T e § At R &1 ga B S TRSER B J9
PIRIEIREC] |

(a) peate i H AedieR % Y WR 2-2 Y SRR el 8|

by AT SR TR S B H 1 T W o B

© iR Tg fiofa 37 ¥ i v Ryt SoTadl § 6 5 G @1 ved weviarsl SR grft 2
@) SRAIRF F AR 140 W A3 81 MY

e T =gyt J 7 orEl 98 yFraain T ¥ A § a3 996 B i AT I dat
3 feamyi fE3 ifg Aie=t & 7 odiged § 7S 3 wdhei 9t J

@ w3 Fous Ne e Hdd 2-2 775 ¥ deT I

b) RIS S HS S I e 1-1 e Fftmz iz I

(© whnfeg fog st 996 e e e Qamger 3 f fagdt < § ufost s@erl Faat ueat

(d) WIHIER 23 AT 1403 WS WG I TR

26. In which year British had their victory in Battle of Plassey ?

et ¥ g ¥ il Y oo frm e A gg 2
UgTH < w3t feg vigat < i3 fam s g Jdt il 2
@ 1690 (b) 1748 (© 1754 ) 1757

CH-07/A 9 P.T.O.
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27. The LCM of four consecutive numbers is 60. The sum of the first two numbers is equal to fourth
number. What is the sum of four numbers ?

IR TAR AT BT LCM 60 | TEa < Gorai 1 A It GBI F SRR 21 IR Gemalt &7 I

g2

g;%@a%aafwmm 60 1 Ufgehut R Hitparet = 13 Tt W @ gaEg 1G9 Wit o
?

@ 17 b 14 © 21 d) 24

28. 30 men working 7 hrs a day can do a work in 18 days. In how many days will 21 men working
9 hrs a day do the same work ?

(@) 20 days (b) 21 days (9 18days (d) 16 days

30 Je UfifT 7 62 orf o T o1 @) 18 AT H W aw uwa ¥ | 21 aerh 9 6 R o
PR 3G HE P b f24 F 99 2

@ 20 f& b) 21fg (© 18f& d 16 fe7 .
30 »mert fed few fe9 7 Wi IH Iaa 18 fowt &8 g o yar o9 7o 05 | 21w 6t o feos
&9 9 i i 793 3 fewt i waadl 2 |

@ 20 fea b 21fes © 18fes d 16 fea

29. A shephard had 17 sheeps. All but nine died. How many was he left with ?

TP WRATe & T¥ 17 48 A1 1 1 Sigam a4 F A 81 12| 3% U a1 9 A &= 2
e % 17 33T 51 3§ B3 Aol 13 Tt | B I felshori Selinii 75 2
@ o0 () 8 © 9 d 17

30. There are 80 students in a class, where number of boys are thrice the number of girls. Surinder
ranked 20" from the top. If there are 11 girls ahead of Surinder, how may boys are after him in
rank ?

T Bl 80 B 8, ST o] 3! U wrsfhdl @) Fer § 8 T 21 gReeR o @ 2098 i
g1 AfE 11 Tfl gReeR A oM & ¥ § 39 a1 fra wied ok B 2

e M3 25 8o fefonas ow, g wafomi < faredt gt & faret a7 s i 3| wideg 9 3
20 THES 3 J1 A9 BidTT 3 11 FIui wdl 95 3T ORI amm Ja R R ®RA I9 I 2

(@) 49 (by 51 () 53 (d) 55
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32.

33.

34,

35.

7]

ype of crop ?
(@ Kharif (b) Rabi (¢ Zaid
9 P9 ISR 1 B § ?
() Ww (b) & (€ TE
5 for 3 S SRS I 2
@ yde by T © %e

Select the related number from the given alternatives
fau e famedt § A Heifira dem o1 =g B

&3 I feamyt &8 Hdfz dag o =d
N*M:14*13:2X*Z:7

(@ 247*23 (b) 23*24 (0 24*26

(d)

(d)

(d)

(d)

GET IT ON
Google Play

None of above

SR H A DIg T8

3 fofgri {89 It ot

26*23

Three numbers are in the ratio 2 : 3 : 4. If the sum of their squares is 1856, then the numbers are :

ST gEt 2 : 3: 4 F Sgura A €1 9l I7% G &1 AT 1856 B, T GBAE gl
35 Hitpret mgui3 2« 3+ 4 189 T61 9d BT6t © 2901 T 1 1856 3, 31 Hitprret I
@ 8 12 16 () 16, 24,32 © 12,18 24 d) 14,18 19

In a certain code SHIMLA is written as RGHLKZ, then how will PATNA be coded ?
U 329 B § SHIMLA BT RGHLKZ foraT T 8, @ PATNA &) i & S ferar s 2
5 yH 93 789 SHIMLA § RGHLKZ fasfipt faper 3, fag PATNA § 93 &5 T2 fasfipm a2

(@ 0OZMSO (b) OZSMZ () ZOMSO

»

(d)

0ZMSZ

Rohit tells his son, "I was three times of your present age when you were born.” If Rohit's present

age is 48 years, how old was the boy 4 years ago ?

(@ 24 years (b) 8years () 12years

(d)

16 years

Afed U 9 § Hgdl 8, "OIF TERT 54 g @l H TR Id0H IH &1 dF T o1l afe Afed $t

T 1Y 48 T g, T 4 99 UGl TS bl 7Y et of 2

@ 249 b) 8 © 129

(d)

16 9IIet

Aoz vy 2 § afder 3, v 3ol e 92 31 7 3ot viger @19 3 35 I /1 Ag Ifaz € Hge

1 48 AS I, 314 T8 Ufas! B34 <1 BH3 Tdat Ft?

(@) 24HE (by 8HES (0 12HE

(d)

16 H'E
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36. A bus covers a 60 km distance in 1 hour 30 minutes, whereas the same distance is covered by a car
in 45 minutes. What is the ratio of the speed of the car to the speed of the bus ?

T 9 60 it &1 gt 1 97 30 fire B 99 ol §, Tl It € 8 U BR 45 e & o et 21
DR B Tl BT T9 B A T ST 8 ?

féar g7 60 faicg = gdl 1 w2 30 fifel & I g9t 3, v f fodt ot g a9 45 file f&g 3
J9dl JI T T M »R SR A Mz T niguz 92

@ 2:1 (b) 1:5 (¢ 3:5 (dy 5:3

37. World War I was fought during which of the following periods ?
v fay gg Fafafea & 9 frg sy H Srm gan ur 2
YTET fene Y foralsys T fam m S Ao # 2
(@ 1909-13 (b)y 1914-18 (© 1919-23 (d) 1923-27

38. Where is the largest skywalk bridge in India ?

(@) Tamilnadu (b) Kerala (¢) Maharashtra (d) None of the above
YRA T Had 581 WSaie Jd Hel ¢ 2

(a) g (b) I (© HERIY (d) THIBIE L
TR e IW e us i dr |

(@) IHSEF b ¥J|S (c) HITHT d) Teoxi Y I ot

39. If 22% of x=30% of y, then y : x is equal to :
TG x BT 22% =y BT 30%, Wy : x R B :
AAd x T122% =y T 30%, 3y :x TG ;
(@  15:11 (b) 15:14 (© 17:16 (dy 11:15

40. A number first increases by 10% and then decreases by 15%. The percentage decrease as a whole
is:

T AT U5l 10% I & ¥ gl ¢ 3R B 15% F R A o7 8 9l 81 T T9 J @a) uiowa

DI AU G ?
e At Ufgsst 10% <U=t 3 w3 59 15% wedt 31 I e 3 Wz it =t 1
(@ 65% (b) 55% (© 45% d) 3.0%
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d 2"' 7 | Google Play
ich i t term in the series 1,1,2,3,5813......... ? ,

G 1,1,2,35813 ... .... H 3FTS UG DI |1 g1 ?
BH11,235813......... IS Sud fagzTJ ?
@) 44 () 34 © 21 d) 55

42. Who won the Malaysia Masters 2023 badminton title ?

(@)  Viktor Axelsen (by HS Prannoy

(¢ Weng Hong Yang (d) Prakash Padukone
TR ARed 2023 BT Ssftics F1 faae e siare 2

(a) ToTeR THTEH (b) TITH YU

(€ duga (d) TSR UTGHI
HEHM HTHSIA 2023 BSfies fuzra foamd fiffznr 2

(@) feaca WansHa (b) WA YITH

(@ SdIETG (d) YIHUYEAS

43. If A + B means A is the mother of B; A—B means A is the brother of B; A % B means A is the father
of B and A x B means A is the sister of B, which of the following shows that P is the maternal uncle
of Q? :

TR A+B BT S RF A B AR A-BBT SIS fF A BHFTUE S, A% B BT 34 2 fob A, B &7 T
2R AxBIT R H A B TEAedl A A T Rped A B B P, QBT AR ?

AGIA+ BT NITTA BRAH T A-BTHIBIIA B TIT T A% BT NI IA BERZTING
AxBEWIEIA BRI S, It i3 feT faazr eam@er I fal P, Q TT HHT 7

@ Q=N+MxP () P+SxN-Q
© P-M+NxQ d Q-S%P

44. On which date is World Milk Day observed ?

(@) June 04 (b) June 03 (© June02 (d) June 01
fay g oo frw fofl & wer e 8 2
(a) 043 (b) 03T (@ 023 (d) O1SH
feme Tu foen fam it § vefenr e 9 2
(@ 044da (b) 03dd () 02dd6 (d)y 01do
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45. Ifin a list of all the alphabets, the alphabets at positions of multiples of five are replaced by digit 1
and the alphabets at positions of multiples of seven are replaced by digit 2. How many alphabets-

are left now ?

e 3sH quinTen $t tp
qrd & TUIPT & RIF W

Herd wididdl TgeH®T € fix 5t fS, Un ® gon © s @ whigi § wia 17 &% Sefe w3
H3 2 ITH R HETS © wiydt § ol 2 o8 9o g aiar 31 3 g o wiandl @ whig 59 95 -

(@ 15

(b)

¥, Ui & TOTh! b RIF TR G B e ‘17 | Uirefia e e & ol

17

46. Who is the Prime Minister of Egypt ?

(@ Mr Mustafa Madbouly

()  Mr Hosni Mubarak

o & TR S E 2
(@ o I AeeE!
(© o S gERS
fg T yus isdtded 2
(@) HYAZe HeHE
(© *HInatHET

(b)
(d)

(b)
(d)

(b)
(d)

(©

Mr Abdel Fattah el-Sisi
Mr Sharif Ismail

&1 3redd Tag Hal-Ri
il IE ST

18

(d)

H WS T37g WS- Hir

[ 1 3iep "2’ § Ul fora e & < ool & fpa af A s=@ & 2

21

47. Which two signs should be interchanged to make the given equation correct ?

fau ¢ TrieRT 31 OEt SR & o e ) RS ) suw & s S AR 2

fe3 98 milaes § #dl 9ol e faar = figi § sefenr e adier 3 2

25—5*50/10+35=155

(a *and —

48. “City Of Dead
(@) Egypt
“City Of Dead
@ =
"City Of Dead
(a) fHAg

(b)

*and +

(c)

+ and —

“ —a UNESCO World Heritage Site is situated in

(b) Germany (¢ Pakistan
"> TP Gowep! fay eRIeR ®d _ # fRua g
(b) o (© ufePEm

" - ¥q gana fene feamzt nurs &g Afgs J1

(b)

HIHal

©

Yfga3™S

(d)

(d)

(d)

(d)

*and /

Burma

el

HdH!
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49. The value of x for which the expressions 12 —6x and 4x + 2 becomes equal is

« T T o T ifrafE 12— 6x 3R 4x+ 2 WR B TAE :
x@ﬁgmﬂwmﬂm12—6m@4x+zwa€éé:
@ O (b) 2 (© 1 (d 4

50. India won the first cricket world cup on

(@) 25" June 1983 (b) 25" July 1983
(© 22" June 1983 d) 25" June 1979
YR A YA fobepe fay U Hoffaram

(@ 25511983 (b) 25 TS 1983
© 2271983 d) 2571979
EIGERS & ufawst foare fere Ju fifanr /)

(@ 259& 1983 (b) 25 THE 1983
© 227951983 d) 25951979

. 3 2 1
51. Inaclass 2 of the students are girls and rest are boys. If 3 of the girls and > of the boys are

absent, what part of the total number of students are present ?

T we - ats’m%aﬁ?wﬂm%laﬁ 2 efbdl IR = aﬁﬁq@m%ﬁrmﬁw

mwmmw@m%?
g w3 feg = mﬂaﬁmwadqaﬁlﬂo«dgmqu@ B3d digdHd I, 3T IS8
E@mﬁwzﬂﬁaﬁ@ﬁwﬁmmm '
2 b 3
(a) 3 (b) 3 (9 2 (d) L

52. The largest natural number by which the product of three consecutive even natural numbers is
always divisible, is :

T8 T Uieiie dor e 99 wanTd W wefae Semsdt S UHha 9ed f[AHST g1 ©, 3

g7
%%ﬁwmmwmﬁﬁémw@wméWWWﬁ
@ 16 (b) 24 © 48 d) 96
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53. A shopkeeper sold two mobile phones for Rs 20,000 each. The first one is sold at 10% profit and
the other one at 10% loss. Then his % gain or loss in this deal is :

(@  No profit no loss (b) 1% loss
(€0 1% gain (d) None of these

U PSR 7 <l AEISd BIF 20-20 B9k 0T § 93| UA BT 10% TH 3R g8 B 10% 81 W
71 T 59 A H STBT A1 1 81 Ufwd (%) §

(@) TDIE Y TDS e (b) 1%T=
© 1% d) TN IABE TE

f¥e TIewTg 3 © NS 20-20 IT9 U 89 0| UfTST 10% Har@ 3 i3 TH 10% Wi 3 g
farr 31 fen He )T B8R © B9 7 gas Yf3E3 (%) I

(3) & AT BF B AL TE (b) 1% Td
© 1%33 d) fogat &9 It <t ot

54. Three of the following four are same in a certain way and hence form a group. Find out the one
which does not belong to that group.

(@) Violet (b) Green (0 Black (d) Red

fFrafefed o & § 9 to Ry 8% & w9 € 3k 39 BRI Q % Og T &1 39 U &1 udl
L & 39 IUE § §fYd 8l 7

(@ &I b) B (© @I (d)

foraigys 99 196 H ffa 4m 3dla & ¥ f1d 96 w3 foer 9196 ffa Ayg g8k Ts1 En e &
391 BF AYJ &% Hefu3 &t J |

@ gaet b) T (€ & d) IS

55. Thevalue of 8—[8—(5+8)—{8— (8—5 +8)} +10] is
8—[8—(5+8)—{8— (8—5 +8)} +10] BT AN |
8—[8—(5+8)—{8— (8~5 +8)} +10] THG |

(@ 5 by 20 © O (d) 10
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58,  Who was the fast Governor General of India ?

(@) Warren Hastings (b) C Rajagopalachari

(©) Lord Cornwallis (d) Lord Mountbatten

YR P AT TR SR B 3 2

(@) aneefRET™ (b) I IR

(© @S PHanad (d) diS HAReseA
193 T R IETEd AGIS HS H ?

(a) <95 JAGTH (b) T IHIUEE!

€ IS TI6ITEH . d) VI3

57. Theaverage of 7, 11, 15, %, 14, 21, 25 is 15, then the value of xis :

7,11, 15, x, 14, 21, 25 BT 3T 15 B, A x BT A gl
711,15, x, 14, 21, 25 WA 153, faa x T YUS Il
@ 3 (b) 145 © 12 @ 133

58. Which is the first e-commerce company to set up solar farms in India ?

(@) Walmart (b) Amazon (c) Flipkart (d) Ebay
AR B FreR BT R FX ATl Teeh S-HiHs Hu S J € ?

(a) diaHe (b) M ( foemere (d) <
3193 g A9 9H HEW3 996 =E! Ufos f-anian dus! faadl 47

(a) TBHIC (b) WHES (0 efBydae d) T

59. 2 years ago Radha's age was 4 times her son’'s age. 8 years after the ratio between the ages of
Radha and her son becomes 5 : 2. What is Radha’s present age ?

> ¥ TEa YT F A TP T B MY B 4 T N1 8 T & T AR IV T P Y BT AT
5: 2 B Sl | AU BT G MG HT G ?

> TS st I & §vg B U39 D §1a 3 4 I A 8 S gmE I M3 ER USI T e ©
MEU3 5 : > = e I A e A |l 7

(@ 38 (b) 40 (0 42 (d) 44

i
0
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60. Which company has signed a 3 billion Euro contract to supply and service freight trains in India ?

(a) Robert Bosch

(¢) Siemens

(b)
(d)

Schneider Electric

General Electric

o Ut 3 R & e @t Smoff ohe Ja1 & fRiw 3 RfRr 0 % orgey W eRaer Re 2 2

(@) Nedarm (b) WIS FAMIEH
( WA (d) VR gofR®
foras duzt 3 993 9 1 gighor & Fum

EEXN

(@) JEITEH (b) WEESS fedafay
(© A (d) TS fedafa

"3 AT B¢ 3 fasinis ga @ feaagam 2 grng

61. PGIMER Chandigarh was inaugurated 60 years ago by
(@) Pt. Jawahar Lal Nehru (b) Sardar Pratap Singh Kairon
(¢)  Dr Zakir Hussain (d)  Prof P N Chuttani
disilemungem JEime ST Igue 60 Ae Uaet e gRT faa 7747 o 7
(@) . AR 1 A (b) ISR yam g
(0 SIS g& (d) TR feT gert
PGIMER Y51d1Z T ¥Ues 60 7S Ufast fam wumgr 131 fap 7 2
(@) Ufs3Hegd 315 afag (b) HITT Y3 ffwad
© FuHTaIgRs d) Y ftns st
62. Find HCF of 48, 168 and 324.
48,168 3R 324 HT HCF F1d Y|
48, 168 ™2 324 T HCF &3 |
@ 12 (b) 18 © 28 (d) 36
CH-07/A 18
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64.

65.

Addal247 Google Play

Ister of Jasbir, Jasbir is the wife of Parmjit and Parmijit is thg son of Amarjit, how Is
Jasbir related to Amarjit ?

(@) Daughter-in-law (b) Daughter _
(6 Wife (d) Mother

Ife ¥R SadR #1987 §, Wwﬁaﬁqﬁ%@?mﬁﬂammaﬂ% A SR SRSl
I PR ?

(@ dg (b)y &
(© U (d #i

A9 Hig AHEe @ 3¢ I AFElT Y3 ©@ uZat 3 w3 UIHAE »iHgH3 T U39 J, 31 AAdle =
WHIHIZ 1S ot AFU 3 2

@ &g by T

© usd @ o

There are six persons Ashwin, Kiran, Komal, Dipen, Esha and Mittal. Komal is the sister of Mittal.
Kiran is the brother of Esha's husband. Dipen is the father of Ashwin and grandfather of Mittal.
There are two fathers, three brothers and a mother in the group. Who is the mother ?

(@) Ashwin (b)y Kiran (© Komal (d) Eshal

o8 e sifyH, faa, Piwa, o, 330 ok e 81 o, e &t 961 81 6, s & ufd &1
g §1 0, St 3 o oiR e & a1g1 ¥ wg § & U, u iR T Hi g e A A A

"PHHE?

(@ SifE (b) T © oHa (d) =m

2 fonast wmfes, fags, avs, T, ghr w3 iES ga s s @ s d fags s udt =
Igr | s wiafes T AT e iiss o v d) oy fRe 2 3T, (Fe g w3 fEa Hi QI Hi = 3 2

(a) wWHles b) fa3s (© OHB d) €

Which country launched the ChatGPT rival ‘GigaChat- Al chatbot’ ?

(@) Russia (b) China (0 Iran (d) North Korea
3T 32 3 ChatGPT URE! ‘GigaChat- Al chatbot’ @il ko & ?

(@ w9 () A (@ M @ SHHRE
foH 1 3 ChatGPT fedtt ‘GigaChat- Al chatbot’ & o137 2

(@) g b) s . © s d) G3dATmn

CH-07/A 19 P.T.O.


https://www.adda247.com/?srsltid=AfmBOorxWlJHJat0hxykMSj0dTevsfMXFCCKkF-M1iJl0fZs38MiR7HD
https://play.google.com/store/apps/details?_gl=1%2Amx0b1g%2A_gcl_au%2AMTY5Nzk3MzE3LjE3NDQwMzIyMTI.&gl=US&hl=en_IN&id=com.adda247.app&pli=1

Addal247

66. A train started from station A and travelled towards station B at 70 km/h. At the same time another
train started from station B and started travelling to station A at 60 km/hr. After 11/2 hours they
were still 65 km away from each other and had not crossed each other. After how many hours of
starting would they cross each other ?

TP ¢ R¥H A 4 TFE BIdt § 9IR R B 3T 3R 70 fpefiyder @t aifa & gt 81 30 979 @& o
¢ W B A Y Bl § 3R WA A TF 60 fbefl/der 3 71id § =rere1 I et 81 11/2 98 & gy
1 9 Tp-gW W 65 B G 3R 3T TH W BV UR (Cross) T&T ban U1l g o= a7 & e
Yj’@f%WﬁW@’(ﬁW(Cross)ﬁﬂ?

fea Jdst #ima A 3 Bg I w2 TS B 98 70 fadhiics Y=t vier @ 9g39 o It 63 ml iy
39 Judist wems B I Hg I #3 60 fadiied Yt vier & geIQ wE Wows A § T il
1172 Uifenti gmie & §u e g 3 65 fadhfiea g9 Ae w13 9 g1 & U9 &d1 13 7l W39 g 996

2 {3 Wi gmie §9 ffa T1 § ud (@am) Iaa4l|

(@ 12 (b) 10 (0 8 (d) 6

67. A bus starts from Chandigarh. The number of men are thrice the number of women in the bus.
At Ambala 12 men leave the bus and 16 women enter the bus. Now number of men and women
are equal. In the beginning, how many passengers entered the bus ?

UG | Uh T Taidl 8| 5 H YouT P W Afgared B Gem B i [ 21 Sfaren F 12 7o 59
U IR S € AR 16 AT 9 & g Sell §1 o7 59 & T R ARerrat Bl dew 9 B I
9 T foram anfat ey fomam ur 2 |

9503 3 fea I I=<t 91 IR &9 Howl « forct Wiasi & et o 55 I 31 wigw =y
12 wirert ¥ &4 €39 7l 95 w2 16 »ig3t 90 &9 ¥3 At 951 g& Hael w3 wigzi & fare
399 J| 7g <9 91 25 ff bt merdtni 715 2

(@ 56 (b)y 66 () 46 (d) 76

68. During his recent US trip, Prime Minister Modi was gifted a book of poems by the Bidens. This
boak is the work of famous poet

(@) Robert Frost (b) T.S. Eliot (c) Emily Dickinson (d) E.E. Cummings
ST 1T €1 BT SRR A b IR, T} B B areed R Hlidiel ) t Tad STER A &
T of| 7% e ulig Bl cakcankd

() e BIE ) dATaIRe () uEAfePam (@) 3w

WY THPAT MHdl 3T a7, YT H3d W&t § fasan orar sl & 9 fazg 308 <5
et ardt w1 fog ymza yfifo o<t - k- rakc

(@) JEdCIIAC (b)) TAWMHAEmE (¢ AEifsasrEs @) e ahiom
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69, The greatest numbper that divides 38,45 and 52 leaves remainders 2, 3 and [4 reSpectively Is~.

@ 4 (b) 5 ¢ 6 (d) - None of these

T TS GBI O 38, 45 AR 52 B AU T T 3R FHR: 2, 3 3R 4 I F9d 8, Fufered # 9
DT R ?

(a) 4 b 5 © 6 (d) FTH B T
ggi'a”‘aﬁﬁfawﬁ%,%m?szééséﬁ»@%ﬁwz,3»@4%@3?5,@6%&%1*1‘%@'?&33?
(@) 4 () 5 © 6 d) feast i ad d adt

70. A woman introduces a man as son of the brother of her father. How is the man related to the

woman ?

(a) Uncle (b) Cousin () Grandson (d) Nephew

g@fgwwmqﬁma@ﬁm%%%%%wﬁm%l%wmﬁﬁmw
?

(a) N (b) =RTUE () T (d) it

e gz g vt § wud fuzr @ 391 Y39 28 U 99l 31 HIE T a3 a8 AT AEU 3 7

(@ T (b) TEIII © T (d) I

71. Ahlawat moved 20 m to the north, then turned left and covered distance of 34 m. Again he turned
left and moved 15 m. Then turned to the right deviating by an angle of 45 degrees from the
ongoing direction. To which direction he is travelling ?

(a) South-west (b) South-East () North-west (d) West

3fgenad 20 HleR IR T SR TelaT ¢, R a8 IR 3R gedT & R 34 HieR ST T T Il 81 T8
fp F 91 3R g1 § 3R 15 Hex T Jgar g kX I8 7« & fazn 9§ 45 feuli & »iur & fafea
awaréah?a@:m%lagmﬁmﬁww%?

(@) Gf&or-ufdy () <Rogd © JR-UBH d) ufEm

WIS 20 Hied €39 < <foo, feg W) Wi w3 34 vics @ TR § d=9 131 T Q9 Y
HW»BBMWEWFIWWH‘J‘TW@W%W@QE “HEER 32 HR I Wi
Gufmfom S wiaa .

(@) THS-UsH (b)y THT-YJH © §33-UeH d JeH
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72. A motorboat goes 24 km in 2 hours along the stream and 10 km in 1 hour against the stream. The
speed of the motorboat in kilometers per hour is :

TS HicRdIe 4R &1 fomn & 2 69 7 24 5l ofR or1 & wfaga 1 98 & 10 fordt o 1 Dewdle :t

Y fpaderufdde . R

f¥a Hegde o ® &% 2 W 13T 24 fadifica »2 T = fedu 1 Wik &9 10 faehieg 7t 31
fahfea Fivfar f@gdeggedat . 3

(@ 14 by 10 © 11 dy 12

73.  Which one of the following given responses would be a meaningful order of the following words ?

1.  Point 2. Triangle 3. 'Square 4.  Angle 5. Line

frafefed & @ o w1 S Fufifa v o ae sadm 2

1. &g 2. Py= 3. dABR 4 B 5. X4
Jat €3 7l 84 faaz ¥ Jot &3 weet v »igayds 4 I=am

(R 2. f3d<e 3. Sddl 4. T 5. T

(@ 4,1,523 by 3,2,1,54 (© 21,453 (dy 1,54,23
74. KFON is a project initiated by the government to provide free Internet connections to
20 lakh below-poverty-line families and connect 30,000 government institutions in state.
(a) Kerala (b) Karnataka (0 Nagaland (d) Oddisa
KFON T&h uRAeATg Sy WWWWQ#?%$2OWM@W$E@E
IR TG B SR 6T T 30,000 THR TRIFT 1 Set F e 3= o 7 2
(@ bXd (b) TlcH © TS d) S

KFON e Yise I/ Aoag oordr it o 3 st 9fdR 20 By ufgerat § wes fiegde
TBTHE YT'6 9196 113 I fd 30,000 HIATH Heret § 7E% S€ gg o5 famn I

(@) dIB (b) TI&TH (€ BIES @ S

75. S.Sobha Singh is famous for _
(@) Paintings (b) Music () Poet (d) None of the above

TRER 3T g EARPISES] |

@ e by T (© fd (d) SWRI IS T
AAgfHw @ umEgedl

@ Udam b) W3 © @ ) fegat f&T gt wdt
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76. In the foliowing, out of four words, three are alike and fourth is different. Find out the fourth one.
(a) Saw (b) Knife (c) Axe “(d)  Screw-driver
frofifea & ar weal & 9, dF 99 § SR 2T Tsg 3feT 3 919 Weg BT Udl T |
(a) T (b) R © Pl (@) U
fraizys e, 99 meet 24, €6 Q fid 96 »= 9ar Sy J1 dar uzr 94|
(8 W (b) T9 (€ It (d) YA

77. Which of the following slogans was given by Netaji Subhash Chandra Bose ?

(@) Give me blood, I shall give you freedom
(b) Freedomis my birthright.and I shall have it
(c) Defeat and failure are sometimes necessary steps of victory

(d) It's a fight for freedom, freedom from past for coming future

TS GHTS o5 91 A ffeiaa § @ o 1 AR fear ur 2

(a) THHITI A, AR et g

(b) T BRI RGP R § ok & 39 oie |

(© TR AR el HH-wt fasa & siavae wed B9 €
(d) TE OE B! TS §, 3 a1 Hfawr & g srdia & el
331 He™H ded 9 B I ol faga amiar iz

(@) 3H NS Y& e, H 3T7g »iadt Tiarm|

(b) NI ASHIHT wifgara I w3 H ferd Feg garan|

(€ TIn2BnASSI g8 B9 fi3 © Hgdt e I8 IB|

d) g & TIE 9, 8T TH Y B »F3 I v |

78. ’'Kargil Vijay Diwas' is celebrated on which date in India ?

(a) July24 (b) July 26 (©)  August 01 (d) August 03
HRA & pRMa faor feaw fvw i &1 aaman s g2

(@), 2498 . (b) 26 A5 © 013 g ) 03T
"rafars fen foen 393 &5 fam 3y & Haen AiwT 3 2

(@) 24 g8l (b) 2649ZE (©) 01 %dA3 (d) 03WdH3
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79. Who won the Wimbledon 2022 Men'’s title ?

(@) Novak Djokovic (b) Nicholas Hilmy Kyrgios
(© RNadal d) C Garin

fdeers 2022 G &are faam Sitar o1 2

(@) AT S b Foay Reh foifaa

(© SRS (d) HRA

fRa%35 2022 yami v fyzrg de flfanr 2

(@) B HAfeT (b) Todsh famH faafargn
© MIETH d) FIfgs

80. A cantonment had arrangements for 210 soldiers for 50 days. After 30 days, 140 soldiers left the
cantonment for battle. Then after how much time the food will be consumed completely if the
consumption of food remains the same for the remaining soldiers ?

(@) 60 days (b) 47 days (c) 12 days (d) None of the above

TH BI1a-1 § 50 ol & o 210 AT & Hiow & sgawt 2t 30 331 & &g, 140 AT 3 gg A oM
& forg a1a-t 818 <& afe v IS & UivH Bt @ud A g4t § O e I & S HieH g
WE A T Y STE ?

@ e60feT )y 47 © 12fH (d) FTHIADE T8I

fea g8 fed 50 foat &t 210 firurdin © Sva w1 ygu i 30 feat gmiE 140 finurdt, st ieg 7
Jdd, 531 83 IR Add el fos 376 T YU3 Trel Aieer et fid fadt 9t fed fda M gme
IHS YJI 3T Y3H I AN ?

(a) 60 fes by 47fex © 12fe® d) foastfed It & &

81. If 6/7™ of 8/5™ of a number is 192, then 3/4™ of the number is

gfe fH< TBm & 8/5a1 BT 6/7d1 HIT 192 8, o TAT BT 3/491 HIT =
A4 fan At 2 /58 21 6/721 192 3, 3T Hftpem T 3742t Rl
@ 105 ) 77 () 80 d) 36
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. qdme ot mother| of Maharaja Duleep Singh, the last Maharaja of Sikh Empir i

83.

84.

85.

(@ MehtabKaur  (b) Jind Kaur (¢ Datar Kaur (d) Ratan Kaur
g TS & 3o HERTGT, FHERTST Geity Rig ®1 Al &1 M ol
() TEAEBR (b)) RiEHR (© TEARDR (d) IATBR
fifd AT = Mt Haa, Haa+ T8ty fiw, StH3n T s AL

@ Haz=ada ) fieds () TIddd d) T35

A word is given below. This word is followed by four other words, one of which cannot be formed
by using the letters of the given word. Find the word.

4 T e R T 31 39 Ueg ¥ 9IS IR 3 Tee A B A ¥t fAu U wsg & stert
IUANT HXh 8] S ol Gl 6| Ueg F1d DI |

Jot g gee 03 famr A1 fer Hee 3 gwie 99 J9 TeE R I5, frgt fed ffq § 83 mee @
»dt € T3 I Bl SN AT HaET| HIE B3|

COMPREHENSION ] 3

(@ COMPRISE (b) PENSION () ONION (d) PREACH

How many of the following numbers are fully divisible by 132 ?
frofofaa & 3 fra-h gt 132 ¥ gt e faursu § 2

It it Hftmrret f&d fdani Fiftmret § 132 7% Yt 3gt S A HaE J ?
264, 396, 462, 792, 968, 2178, 5184, 6336

(@ 4 b) 5 (0 6 dy 7

Ram, Mohit and Amit can complete a task in 12 days, 10 days and 15 days, respectively. In how
many days can Ram, Mohit and Amit together complete the same task ?

W, Aifgd ofR 1P T o1 &1 A 12 T3, 10 & ofR 15 AT # ok v €1 T, A @ik
3ifEre fireiey S Bl ) fpa R f W Tpa & 2

IH, RT3 »3 Ml 12 fes, 10 fea w13 15 fowt S8 9 o Yar 99 Aaw I51 I, Hids »3
i3 fola font i £ dH § Yar o9 Aa= 352
(@ 8 (b) 4 (0 2 (d 6
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86. After best matching, find what is in place of "?" mark.

Coins : Mint : : Bricks ; ?

(@) Foundry (b) Furnace © Kiln (d)
Farad fAaH & 918, Fa PINe P PR R &g ?

R . epara: $2 . 2

(@) WIS (b) g (@ gl (d)
7Y 3 U fHoTs Famm, B3 fa » REi 32

fHa <o .- fEet. 2

() TES (b) 33t @ S& (d)

87. When was the construction of previous Parliament Building completed ?
fUwe ¥ue Yo &1 Faf s g gan ur 2
fUg® rire 95 & Grrdt o< yat It At 2

(@ 1921 (by 1927 (€ 1947 (d)

88. Which will be the 10" term in the following series ?
Profefd siaen & 1081 Ug S T8N 2 |
I3 e Bt {99 102 &g ot I2ar 2
357, 363, 365 .. % . . .

(@) 405 (b) 41 (©0 413 (d)

89. Find the missing term in the given series :
HKIE] SR H T AT 1 Hifog ;
R e e g o 3R TR B 853
15, 22,31,42,55,?

(@ 60 (b) 68 (0 70 (d)

GET IT ON
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1950
417

74
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gl Ui 3HToT S=Ael BT aRT T § 2
Ufgent U Yy dtmret 43 9
@ 11 (b) 18 © 26 d) 28

91. The first maritime partnership exercise involving India, France, and the UAE recently began in which
body of water ?

(@ Indian Ocean (b) Gulf of Khambhat

(¢) Gulf of Oman (d) Gulf of Mannar

YR, 1Y 3R TGH 3R 3HRId (GUS) T 81 ol # WSl URiar) 3na g Sawia & SRy gof
qr?

(@ f3<AgER (b) WU P! @S

© SiAH ! Erel (d) TR P TR

3193, SIH »3 e § IHS da6 8! ufas} mied! Iterst i T i &g uret = fam o
<9 gg Jfem w2

(@) fdeHatAa (b) HIre <y

© SaduE d) ety

92. On 23" Jan, 2005 it was Sunday. What was the day of the week on 23" Jan, 2004 ?

(@) Tuesday (b) Wednesday (©) Friday (d) Sunday
23 SaRY 2005 B FATR UT, 23 AL, 2004 HY TWIE BT b1 91 2 U7 ?

(@ ¥R (b)) FUOR (© TFAR (d) = XfAER
23 A&ed! 2005 § M3<d Hll 23 AGEt, 2004 § I23 T fos St it 2

(a) MHaBeg (b) HIRQ (0 HIIES (d) M3

93. The ratio of radii of a cylinder to a cone is 1: 2. If their heights are equal, then the ratio of their
volumes s :

TS oA 3R P B BIo &7 U 1: 2 81 9l T Fars SRR ®, 6 7% S1ad &1 U @ -

s 2w w3 1y © MIu-fom T wigut3 1 : 2 J1 Agd Qaat €t Gordt garag 9, 3t Gant © wrfess
TMFUS I

(@ 1:3 by 2:3 © 3:4 (dy 4:1
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94.

95.

96.

97.
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Eight friends A, B, C, D, E, F, G and H are sitting in a straight line, all facing the North. F is sitting
between D and G. B is sitting between H and A. E is third to the left of G, who is sitting at one of
the corners. H is third to the left of C. Who is sitting at another corner ?

35 I A B, C, D, E FGIRH TG AN A TS TN SR AP SR @IS 96 &I F, DIARG &
A IS B HIARAFTTTHTII]IE, G F T Y TN VYA R g, N el T d- W31 81 H,
CFH I Y TR R R S| IR HH R B 967182

WS EAZ A, B, C, D, E, F, G w3 H B i oot fEg 98 9%, A €39 W Ya IR IG1 F, D M3 G =
fSgag 45T JI B, H M3 AR feBaO B JI E GR I URA T I, AR I3 38 I H, c2 09
YA AT I TR IS 3 AT qBT D

(@ G (by H (0 B d C

If 3x+2y=7 and 4x—y =24 then x—y = ?
z3”33x+2y=7 Gﬁ?4x—y=24?‘ﬁx—y =7?
A 3x+2y=7 M3 4x—y=2431 x—y = ?

(@ 9 (b) 1 0 -9 (dy -1

A number consists of two digits. The digit at the ten’s place is two times the digit at the one’s place.
The number, formed by reversing the digits is 27 less than the original number. Then the original
number is :

T I & <) 3ich &1 GF & M dIa 3fcb U & I ald 3fcb 1 &l T &1 3fehl B JAcHR s+1S
TS A1, T S ¥ 27 $ § O 59 I e

&g Hitpr &9 © wig I° I51 TH © AES 3 »iq g 2 Aas I vig w8 g I Hiai § g8 A
TTE ITet W s w3 27 We J1 feg vAE $E9 I

(@) 49 (b)y 94 () 63 (dy 36

What is India's rank in the Gender Gap Repdrt 2023, released by World Economic Forum ?
IS ZFNTHP BIRA GRT SR S8R A7 RAE 2023 H HRA HIIH F13 ?
<953 feaaHa S9H TuraT /1d! 1139 di fallae 2023 feg Ia3 T TamA a9 ?

(@ 122 (by 127 (c)y 137 (d) 148
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——98—TFheperimeterof a square is equal the perimeter of a rectangle. The perimeter of the square i<

40 m. If its breadth is two-thirds of its length, then what is the area (in m?) of the rectangle ?

T& T &l URHEY U& HRId F IRAY & TR 811 1 a7 &7 IRAT 40 Hiex 81 AfS 59T M8
TYP! TS B S-fAETE B, T ST BT AT (m?) TG ?

g =ggr T U9 9 wfEsad 2 W @ dr™d I J1 991 T WTT 40 Hied I Adg fordt I3
foret durd w2 f3aret 9, 3t wfezag w1 ¥3des m2 fég) St d?

(@ 100 - (b) 96 () 84 (d) 121

99. What is Britain exit from European Union popularly called ?

(a) NATOEXxit (b)  Brexit (¢) EuroExit (d) None of These
fore & Ridig WU I 18R O S URHAT HY [ 791 8T A6 ?

() ICTEfRTe OREIESH (0 WfRie (d) T ADE T
gt Fu 3 s © o9 e § Bafyw 39 3 off dfde I8 2

(@) dnarae ) Yaffe (© Yoartae (d) fogat 5 3w

100. Which of the following Indian film personalities won the Oscar Award for Best Original Song for
"Naatu Naatu" for the 2022 Telugu film RRR ?

(@ M. M. Keeravani (b) A.R. Rahman
(¢)  Resul Pookutty (d) Bhanu Athaiya

¥ 2022 B} A e "R R R* T A1 e A & forg YR fren & Fofofeg afdaai 8 @
o Ta9s g Tid & T Sy Sfals oitar o1 7

(a) THTH HRAM! (b) T3R.IGHH

(© fomged (d) I Sr=a

2022 T 3B fe®H T Tel "aTg &I IIe Bt J6 fEdnft 313t fgent vl w3t fed
fam & A8 3 Ui Y M3 BE M WMRTIS [HiZHT ?

@) WHMH igeat (b) T I IfoHs
(c) fogsygd (d) ST wEE
-00o0-

CH-07/A 29 - P.T.O.


https://www.adda247.com/?srsltid=AfmBOorxWlJHJat0hxykMSj0dTevsfMXFCCKkF-M1iJl0fZs38MiR7HD
https://play.google.com/store/apps/details?_gl=1%2Amx0b1g%2A_gcl_au%2AMTY5Nzk3MzE3LjE3NDQwMzIyMTI.&gl=US&hl=en_IN&id=com.adda247.app&pli=1

Addal247)

SPACE FOR ROUGH WORK

CH-07/A 30


https://www.adda247.com/?srsltid=AfmBOorxWlJHJat0hxykMSj0dTevsfMXFCCKkF-M1iJl0fZs38MiR7HD
https://play.google.com/store/apps/details?_gl=1%2Amx0b1g%2A_gcl_au%2AMTY5Nzk3MzE3LjE3NDQwMzIyMTI.&gl=US&hl=en_IN&id=com.adda247.app&pli=1

Adda

e

SPACE FOR ROUGH WORK

GET IT ON

Google Play

CH-07/A

31

P.TCOC


https://www.adda247.com/?srsltid=AfmBOorxWlJHJat0hxykMSj0dTevsfMXFCCKkF-M1iJl0fZs38MiR7HD
https://play.google.com/store/apps/details?_gl=1%2Amx0b1g%2A_gcl_au%2AMTY5Nzk3MzE3LjE3NDQwMzIyMTI.&gl=US&hl=en_IN&id=com.adda247.app&pli=1

Addal247 |

Yy g a3 \A

wiedt : 105 fie g ITania: 100
. [ ' oMR §3a Hie
Sifeceg T ai: Srleeg @ TA3H3:
itz § foerfeat

32 : It €t Griteee fonfzas 9% 3 999 odt Aedr A% 39 ferf3as w3 &df 3 wier |
»E e 13 g3 3w 3uq €t Aie 931 Age I Srileera fan Jg Brvleea € I3 499" '3 957 Yo Afer
<, 3t fan a5 §xet it 3= i3t w AaEl A1
1. CACR AR YHs TU-9¢ OF YHs 6| 999 AeS &9 9d fedsy 6 w3 999 yas fea nig w1 J|
2. I8EHI OMR §39 Hie »i3 yns ua/f3me 3 Tanm 92 araH iR fsd)
3. OMR §339 Hie & mrelts-1 < foerfest § fons 18 U1 Yo i3 33, Hicd 399 i3 98 &99 HElS-1 OMR
€33 Hie ® ¥ Grrgde s fii3 g5 1 Gu Arels-2 2 anft &1 33|
OMR €33 anit § yare 7 283 &1 Jd|
OMR €33 ant & Arels-2 33; - 1) i f3™ @3 2) Hed 499 3) YHG o318 489 »3 4) 3% 4541 fog A
. I 99A < wivd el 3 3R 3 @ & ydl 391 39R 931 9183 595 3 Hteera winy filiera J=arn :
6. 9 o yHe {939 I (SET-A, SET-B, SET-C, SET-D) 1 I »mudt oMR €39 Tite 2 fafipr 3, 30731 €33
anft 3 e frar 31
7. 6 »ig T YAs fa3me du9 fon foufes Hie © Sua MR 98 2 AfE3 JI
8. AT yHs anfey I 31, B § 333 feacwides = fours &8 fomG i »n yis fasg § 9es 81
9. T3 feq yms © foq G At Aere 1 IR Aere 3918 HE 2 ¥l Sare J, B8 U39 andt & mets-2 3 sed o9

oGl
Surga< = 337 = 319 395 1 3dten €ergde © 339 3 B3 IS T A
50 @ ® © @ 50 @ ® 0O @
10. 7o um s 5o g 3 <y 3% § 1 fazt fapur 31 fog I3 Hienn aean »2 A Ba & § a3 far @
! a3 fami 3t 8Hg < a3 HiewT Frdn!

11, IS A% U It 293 FaR I

12. NS @6, dBIHR T, Bdl ES Bdl 293 A

3. TSI A BE (0,25 A 1) T SIISHI HIfAa

14. Srieed OMR §39 It & yI8 & S|

15, 0 @ I A7 AHOTd w98 o 98, fm 3 3 iftew e T 7wl J9 3 Ao 3 aes R WA 9
TR J1 A FTS A wifrrdt St iaret sanw SiEt At 4, 31 303 fuste ageret JfiFt A
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